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Data analysis 
 

Q4  4.32.3 10outlier10         C 
 

Q5  Median 5.1
2

21
=

+
=             C 

 

Q6  43548 =−=IQR , lower fence 5.59435.15 −=−= ,  

upper fence 5.112435.148 =+=       C 
 

Q7  
xs

xx
z

−
= , 4.4

75.1

7.5548


−

−
=

−
=

z

xx
sx     C 

Q8  Gradient 917.0
12

11

719

314
=

−

−
=          B 

 

Q9  
x

y

s

s
rb =  .: 569.0

0.19

51.827.1
−

−
==

y

x

s

bs
r           A 

 

Q10  number−= 27.15.676.25 , 33number       C 
  

Q14  11
13

127
=

+x
  .: 16=x           B 

 

Q15  321
2

324318
=

+
       C 

 

Q16  ( )98.001.113.108.112
2

++++−=+ 
x

x  .: 38.1x    C 

    

Recursion and financial modelling 
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Principal reduction 17.17888758.95205.2741 −=    C 
 

Q23  108 months or 9 years     A 
 

Q24  After two years, amount 185.21340     A 
 

Matrices 
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Q31  Player J will never be ranked fifth regardless of the outcomes 

of the remaining two games.          D 
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Networks and decision mathematics 
 

Q39  Initial allocation of tasks: 

Carly Task 1, Blake Task 2, Dexter Task 3, Anush Task 4 

Minimum time 43916711 =+++=  

Final allocation: 

Dexter Task 1, Edgar Task 2, Blake Taask 3, Anush Task 4 

Minimum time 39915510 =+++=   .: reduced by 4 hours.      D 
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